
Ju
ne



June 2024

RODRUNNER REF NO: TR-CY-101 ADAPTABLE CHERY

Tie Rod End

Weight: 678

OMODA 5

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2022- Front Right 201000129AA

Length: 180,5 Bolt Metric: M12X1,5 Housing Metric: M14X1,5

RODRUNNER REF NO: TR-CY-102 ADAPTABLE CHERY

Tie Rod End

Weight: 678

OMODA 5

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2022- Front Left 201000128AA

Length: 180,5 Bolt Metric: M12X1,5 Housing Metric: M14X1,5

www.rodrunnerparts.com 1



June 2024

RODRUNNER REF NO: BJ-CY-104K ADAPTABLE CHERY

Ball Joint Kit

Weight: 826

TIGGO 8

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2022- Front Lower 202000911AA*, 202000910AA*

Length: 86,6 Bolt Metric: M14X1,5

RODRUNNER REF NO: LS-CY-106 ADAPTABLE CHERY

Stabilizer Bar Link

Weight: 244

OMODA 5

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2022- Rear M11-2916030

Length: 88 Bolt Metric: M10X1,25

www.rodrunnerparts.com 2



June 2024

RODRUNNER REF NO: LS-CY-106 ADAPTABLE CHERY

Stabilizer Bar Link

Weight: 244

TIGGO 7

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2022- Rear M11-2916030

Length: 88 Bolt Metric: M10X1,25

RODRUNNER REF NO: LS-CY-106 ADAPTABLE CHERY

Stabilizer Bar Link

Weight: 244

TIGGO 8

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2022- Rear M11-2916030

Length: 88 Bolt Metric: M10X1,25

www.rodrunnerparts.com 3



June 2024

RODRUNNER REF NO: TR-CY-111 ADAPTABLE CHERY

Tie Rod End

Weight: 680

TIGGO 7

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2022- Front Right 201000104AA, 201000218AA

Length: 180 Bolt Metric: M12X1,5 Housing Metric: M14X1,5

Pro Type

RODRUNNER REF NO: TR-CY-112 ADAPTABLE CHERY

Tie Rod End

Weight: 680

TIGGO 7

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2022- Front Left 201000103AA, 201000217AA

Length: 180 Bolt Metric: M12X1,5 Housing Metric: M14X1,5

Pro Type

www.rodrunnerparts.com 4



June 2024

RODRUNNER REF NO: LS-DC-336A ADAPTABLE DACIA

Stabilizer Bar Link

Weight: 295

DUSTER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

HM 2018- Front 8200814411

Length: 340 Bolt Metric: M10 x 1,5

RODRUNNER REF NO: LS-DC-336A ADAPTABLE DACIA

Stabilizer Bar Link

Weight: 295

DUSTER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

HS 2010-2018 Front 8200814411

Length: 340 Bolt Metric: M10 x 1,5

www.rodrunnerparts.com 5



June 2024

RODRUNNER REF NO: LS-H-250A ADAPTABLE HONDA

Stabilizer Bar Link

Weight: 2

CIVIC

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

EU/ES/EP/EM 2001-2005 Front Right 51320S5A003

Length: 90

RODRUNNER REF NO: LS-H-250A ADAPTABLE HONDA

Stabilizer Bar Link

Weight: 2

CR-V

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

RD4-RD9 2002-2006 Front Right 51320S5A003

Length: 90

www.rodrunnerparts.com 6



June 2024

RODRUNNER REF NO: LS-H-250A ADAPTABLE HONDA

Stabilizer Bar Link

Weight: 2

ELEMENT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

YH1/2 2003-2011 Front Right 51320S5A003

Length: 90

RODRUNNER REF NO: LS-H-250A ADAPTABLE HONDA

Stabilizer Bar Link

Weight: 2

FR-V

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

BE1/2/3/4/8 2004-2009 Front Right 51320S5A003

Length: 90

www.rodrunnerparts.com 7



June 2024

RODRUNNER REF NO: LS-H-250A ADAPTABLE ACURA

Stabilizer Bar Link

Weight: 2

EL

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2001-2005 Front Right 51320S5A003

Length: 90

RODRUNNER REF NO: LS-H-250A ADAPTABLE ACURA

Stabilizer Bar Link

Weight: 2

RSX

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

DC5 2002-2006 Front Right 51320S5A003

Length: 90

www.rodrunnerparts.com 8



June 2024

RODRUNNER REF NO: LS-H-251A ADAPTABLE HONDA

Stabilizer Bar Link

Weight: 198

CIVIC

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

EU/ES/EP/EM 2001-2005 Front Left 51321S5A003

Length: 90 Bolt Metric: M10 x 1,25

RODRUNNER REF NO: LS-H-251A ADAPTABLE HONDA

Stabilizer Bar Link

Weight: 198

CR-V

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

RD4-RD9 2002-2006 Front Left 51321S5A003

Length: 90 Bolt Metric: M10 x 1,25

www.rodrunnerparts.com 9



June 2024

RODRUNNER REF NO: LS-H-251A ADAPTABLE HONDA

Stabilizer Bar Link

Weight: 198

ELEMENT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

YH1/2 2003-2011 Front Left 51321S5A003

Length: 90 Bolt Metric: M10 x 1,25

RODRUNNER REF NO: LS-H-251A ADAPTABLE HONDA

Stabilizer Bar Link

Weight: 198

FR-V

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

BE1/2/3/4/8 2004-2009 Front Left 51321S5A003

Length: 90 Bolt Metric: M10 x 1,25

www.rodrunnerparts.com 10



June 2024

RODRUNNER REF NO: LS-H-251A ADAPTABLE ACURA

Stabilizer Bar Link

Weight: 198

EL

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2001-2005 Front Left 51321S5A003

Length: 90 Bolt Metric: M10 x 1,25

RODRUNNER REF NO: LS-H-251A ADAPTABLE ACURA

Stabilizer Bar Link

Weight: 198

RSX

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

DC5 2002-2006 Front Left 51321S5A003

Length: 90 Bolt Metric: M10 x 1,25

www.rodrunnerparts.com 11



June 2024

RODRUNNER REF NO: LS-H-420A ADAPTABLE ACURA

Stabilizer Bar Link

Weight: 466

RDX

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

TB1/2 2007-2012 Front 51320STKA01

Length: 355 Bolt Metric: M12 x 1,25

RODRUNNER REF NO: LS-H-420A ADAPTABLE HONDA

Stabilizer Bar Link

Weight: 466

CR-V

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

RE1-RE5/RE7 2007-2011 Front 51320STKA01

Length: 355 Bolt Metric: M12 x 1,25

www.rodrunnerparts.com 12



June 2024

RODRUNNER REF NO: LS-H-420A ADAPTABLE HONDA

Stabilizer Bar Link

Weight: 466

CR-V

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

RM1-
RM4/RE5-RE6

2012-2016 Front 51320STKA01

Length: 355 Bolt Metric: M12 x 1,25

RODRUNNER REF NO: TC-HY-108 ADAPTABLE HYUNDAI

Control Arm and Ball Joint

Weight: 9.758

TERRACAN

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

HP 2001-2007 Front Right
Lower

54503H1002

Length: 364 Bolt Metric: M16X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-HY-114K Ball Joint Kit Front Lower 54503H1002, 54502H1002

www.rodrunnerparts.com 13



June 2024

RODRUNNER REF NO: TC-HY-108S ADAPTABLE HYUNDAI

Control Arm

Weight: 8.066

TERRACAN

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

HP 2001-2007 Front Right
Lower

54503H1002*

Length: 266

RODRUNNER REF NO: TC-HY-109 ADAPTABLE HYUNDAI

Control Arm and Ball Joint

Weight: 9.758

TERRACAN

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

HP 2001-2007 Front Left
Lower

54502H1002

Length: 364 Bolt Metric: M16X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-HY-114K Ball Joint Kit Front Lower 54503H1002, 54502H1002

www.rodrunnerparts.com 14



June 2024

RODRUNNER REF NO: TC-HY-109S ADAPTABLE HYUNDAI

Control Arm

Weight: 8.066

TERRACAN

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

HP 2001-2007 Front Left
Lower

54502H1002*

Length: 266

RODRUNNER REF NO: TC-KI-818 ADAPTABLE KIA

Control Arm and Ball Joint

Weight: 5.520

SORENTO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

MQ4 2020- Front Right
Lower

54501P2000

Length: 400,8

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-KI-644K Ball Joint Kit Front Lower 54501P2000*, 54500P2000*

BC-HY-BS159
Control Arm

Bushing
Front Inner 54501N9000*

BC-HY-BS160
Control Arm

Bushing
Front Outer 54501N9000*

www.rodrunnerparts.com 15



June 2024

RODRUNNER REF NO: TC-KI-818 ADAPTABLE HYUNDAI

Control Arm and Ball Joint

Weight: 5.520

SANTA CRUZ

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

NX4 2022- Front Right
Lower

54501P2000

Length: 400,8

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-KI-644K Ball Joint Kit Front Lower 54501P2000*, 54500P2000*

BC-HY-BS159
Control Arm

Bushing
Front Inner 54501N9000*

BC-HY-BS160
Control Arm

Bushing
Front Outer 54501N9000*

RODRUNNER REF NO: TC-KI-818S ADAPTABLE KIA

Control Arm

Weight: 4.568

SORENTO

MODEL NO BODY YEAR DIRECTION OEM NO

MQ4 2020- Front Right
Lower

54501P2000*

Length: 291

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-HY-BS159
Control Arm

Bushing
Front Inner 54501N9000*

BC-HY-BS160
Control Arm

Bushing
Front Outer 54501N9000*

www.rodrunnerparts.com 16



June 2024

RODRUNNER REF NO: TC-KI-818S ADAPTABLE HYUNDAI

Control Arm

Weight: 4.568

SANTA CRUZ

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

NX4 2022- Front Right
Lower

54501P2000*

Length: 291

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-HY-BS159
Control Arm

Bushing
Front Inner 54501N9000*

BC-HY-BS160
Control Arm

Bushing
Front Outer 54501N9000*

RODRUNNER REF NO: TC-KI-819 ADAPTABLE KIA

Control Arm and Ball Joint

Weight: 5.520

SORENTO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

MQ4 2020- Front Left
Lower

54500P2000

Length: 400,8

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-KI-644K Ball Joint Kit Front Lower 54501P2000*, 54500P2000*

BC-HY-BS159
Control Arm

Bushing
Front Inner 54501N9000*

BC-HY-BS160
Control Arm

Bushing
Front Outer 54501N9000*

www.rodrunnerparts.com 17



June 2024

RODRUNNER REF NO: TC-KI-819 ADAPTABLE HYUNDAI

Control Arm and Ball Joint

Weight: 5.520

SANTA CRUZ

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

NX4 2022- Front Left
Lower

54500P2000

Length: 400,8

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-KI-644K Ball Joint Kit Front Lower 54501P2000*, 54500P2000*

BC-HY-BS159
Control Arm

Bushing
Front Inner 54501N9000*

BC-HY-BS160
Control Arm

Bushing
Front Outer 54501N9000*

RODRUNNER REF NO: TC-KI-819S ADAPTABLE KIA

Control Arm

Weight: 4.568

SORENTO

MODEL NO BODY YEAR DIRECTION OEM NO

MQ4 2020- Front Left
Lower

54500P2000*

Length: 291

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-HY-BS159
Control Arm

Bushing
Front Inner 54501N9000*

BC-HY-BS160
Control Arm

Bushing
Front Outer 54501N9000*

www.rodrunnerparts.com 18



June 2024

RODRUNNER REF NO: TC-KI-819S ADAPTABLE HYUNDAI

Control Arm

Weight: 4.568

SANTA CRUZ

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

NX4 2022- Front Left
Lower

54500P2000*

Length: 291

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-HY-BS159
Control Arm

Bushing
Front Inner 54501N9000*

BC-HY-BS160
Control Arm

Bushing
Front Outer 54501N9000*

RODRUNNER REF NO: TR-M-141 ADAPTABLE MERCEDES

Tie Rod End

Weight: 790

E-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W214 2023- Front 2964602200

Length: 175 Bolt Metric: M14X1,5 Housing Metric: M16X1,5

www.rodrunnerparts.com 19



June 2024

RODRUNNER REF NO: TR-M-141 ADAPTABLE MERCEDES

Tie Rod End

Weight: 790

EQE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

V295 2022- Front 2964602200

Length: 175 Bolt Metric: M14X1,5 Housing Metric: M16X1,5

RODRUNNER REF NO: TR-M-141 ADAPTABLE MERCEDES

Tie Rod End

Weight: 790

GLC-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X254/C254 2022- Front 2964602200

Length: 175 Bolt Metric: M14X1,5 Housing Metric: M16X1,5

www.rodrunnerparts.com 20



June 2024

RODRUNNER REF NO: LS-MA-154A ADAPTABLE MAZDA

Stabilizer Bar Link

Weight: 274

MPV

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

LW 1999-2006 Front LC6234170

Length: 305 Bolt Metric: M10 x 1,25

YEAR ONLY
1999-2002

RODRUNNER REF NO: LS-MA-337A ADAPTABLE MAZDA

Stabilizer Bar Link

Weight: 337

3

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

BK 2003-2009 Front BP4K34170C

Length: 342 Bolt Metric: M10 x 1,25

www.rodrunnerparts.com 21



June 2024

RODRUNNER REF NO: LS-MA-337A ADAPTABLE MAZDA

Stabilizer Bar Link

Weight: 337

5

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

CR 2005-2010 Front BP4K34170C

Length: 342 Bolt Metric: M10 x 1,25

RODRUNNER REF NO: LS-MA-340A ADAPTABLE MAZDA

Stabilizer Bar Link

Weight: 314

3

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

BL 2010-2013 Front BBM234170A

Length: 350 Bolt Metric: M10 x 1,25

www.rodrunnerparts.com 22



June 2024

RODRUNNER REF NO: LS-MA-710A ADAPTABLE MAZDA

Stabilizer Bar Link

Weight: 237

6

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

GG 2002-2007 Front Right GJ6A34150A

Length: 190 Bolt Metric: M10 x 1,25

RODRUNNER REF NO: LS-MA-711A ADAPTABLE MAZDA

Stabilizer Bar Link

Weight: 236

6

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

GG 2002-2007 Front Left GJ6A34170A, GK2A34170

Length: 190 Bolt Metric: M10 x 1,25

www.rodrunnerparts.com 23



June 2024

RODRUNNER REF NO: LS-MA-800A ADAPTABLE MAZDA

Stabilizer Bar Link

Weight: 319

6

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

GJ 2013-2021 Front KD3534170

Length: 321 Bolt Metric: M10 x 1,25

RODRUNNER REF NO: LS-MA-800A ADAPTABLE MAZDA

Stabilizer Bar Link

Weight: 319

CX-5

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

KE 2013-2017 Front KD3534170

Length: 321 Bolt Metric: M10 x 1,25

www.rodrunnerparts.com 24



June 2024

RODRUNNER REF NO: TR-MG-101 ADAPTABLE MG

Tie Rod End

Weight: 714

ZS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2018- Front Right 10353669

Length: 185 Bolt Metric: M10X1,25 Housing Metric: M14X1,5

Crossover

RODRUNNER REF NO: TR-MG-102 ADAPTABLE MG

Tie Rod End

Weight: 714

ZS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2018- Front Left 10353668

Length: 185 Bolt Metric: M10X1,25 Housing Metric: M14X1,5

Crossover

www.rodrunnerparts.com 25



June 2024

RODRUNNER REF NO: AJ-MG-103 ADAPTABLE MG

Tie Rod

Weight: 496

ZS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2018- Front 10353671

Length: 225 Bolt Metric: M14X1,5 Housing Metric: M14X1,5

Crossover

RODRUNNER REF NO: BJ-MG-114K ADAPTABLE MG

Ball Joint Kit

Weight: 1.038

ZS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2018- Front Right 10803555*

Length: 64,6

www.rodrunnerparts.com 26



June 2024

RODRUNNER REF NO: BJ-MG-115K ADAPTABLE MG

Ball Joint Kit

Weight: 1.038

ZS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2018- Front Left 10803554*

Length: 64,6

RODRUNNER REF NO: TR-T-161 ADAPTABLE TOYOTA

Tie Rod End

Weight: 396

YARIS CROSS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

XP210 2020- Front Right 4504609A20

Length: 165 Bolt Metric: M12X1,25 Housing Metric: M16X1,5

www.rodrunnerparts.com 27



June 2024

RODRUNNER REF NO: TR-T-162 ADAPTABLE TOYOTA

Tie Rod End

Weight: 396

YARIS CROSS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

XP210 2020- Front Left 4504709450

Length: 165 Bolt Metric: M12X1,25 Housing Metric: M16X1,5

RODRUNNER REF NO: LS-T-506 ADAPTABLE CHERY

Stabilizer Bar Link

Weight: 364

OMODA 5

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2022- Front 202001932AA

Length: 315 Bolt Metric: M10 x 1,25

www.rodrunnerparts.com 28



June 2024

RODRUNNER REF NO: LS-T-506 ADAPTABLE CHERY

Stabilizer Bar Link

Weight: 364

TIGGO 8

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2022- Front 202001932AA

Length: 315 Bolt Metric: M10 x 1,25

RODRUNNER REF NO: LS-T-506 ADAPTABLE CHERY

Stabilizer Bar Link

Weight: 364

TIGGO 7

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2022- Front 202001932AA

Length: 315 Bolt Metric: M10 x 1,25

www.rodrunnerparts.com 29



June 2024

RODRUNNER REF NO: BJ-TS-114 ADAPTABLE TESLA

Ball Joint

Weight: 306

MODEL S

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2021- Front Upper 142032600B*, 142032100C *

Length: 65,9

RODRUNNER REF NO: KT-TS-378K ADAPTABLE TESLA

Control Arm Kit

Weight: 2.840

MODEL S

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2021- Front Lower 102735100E

Length: 347,5 Bolt Metric: M14X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-TS-104
Control Arm

Bushing
Front Lower

Center
104895100A*, 102735100C*,
102745999A, 104441600G*

BC-TS-BS004
Control Arm

Bushing
Front Lower
Rearward

102735100C*, 102735100C*

www.rodrunnerparts.com 30



June 2024

RODRUNNER REF NO: LS-VO-856 ADAPTABLE VOLVO

Stabilizer Bar Link

Weight: 3

S60

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2000-2010 Rear 31277896

Length: 53

RODRUNNER REF NO: LS-VO-856 ADAPTABLE VOLVO

Stabilizer Bar Link

Weight: 3

V70

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2000-2007 Rear 31277896

Length: 53

www.rodrunnerparts.com 31



June 2024

RODRUNNER REF NO: LS-VO-856 ADAPTABLE VOLVO

Stabilizer Bar Link

Weight: 3

XC90

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2002-2014 Rear 31277896

Length: 53

www.rodrunnerparts.com 32


